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begin
open := [Start]; % initialize
closed :=[];
while open # [ ] do % states remain
begin
remove leftmost state from open, call it X;
if X is a goal then return SUCCESS % goal found
else begin
generate children of X;
put X on closed;
discard children of X if already on open or closed; % loop check
put remaining children on left end of open % stack
end
end;
return FAIL % no states left
end.
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addFacts(State,[]):-!.
addFacts(State,[H|T]):-assert(father(State,H)),write(father(State,H)),nl,addFacts(State,T).

findPath(Start,Start,ReverseAccumulator,ReverseAccumulator):-!.
findPath(H,Start,ReverseAccumulator,Solution):-

not(H=Start),father(X,H),findPath(X Start,[X|ReverseAccumulator],Solution).

removeChildrenWhoArelnOpen([], Stack, []):-L.
removeChildrenWhoArelnOpen([H|T],Stack,[H|Tresult]):- ot(member(H,Stack)), removeChildrenWhoArelnClosed(T,Stack,
Tresult).

removeChildrenWhoArelnOpen([H|T], Stack, Result):- member(H,Stack), removeChildrenwhoArelnClosed(T,Stack, Result).

removeChildrenWhoArelnClosed([], Closed, []):-!.
removeChildrenWhoArelnClosed([H|T],Closed,[H|Tresult]):-not(member(H,Closed)),
removeChildrenWhoArelnClosed(T,Closed, Tresult).

removeChildrenWhoAreInClosed([H|T], Closed, Result):- member(H,Closed), removeChildrenWhoArelnClosed(T,Closed,

Result).

generateChildren(Start,Children):-putBall(Start,[],[],Children1), pullBall(Start,[],[],Children2),
append(Children1,Children2,Children).

putBall([],Pres,Acc,Acc):-!.
putBall([H|T],Pres, Acc,Succ):- H=:=0, checkRight(T,Res), Res=true,
append(Pres,[1],S),append(S,TL), append([L], Acc,Acc1),
append(Pres,[H],Pres1), putBall(T,Pres1,Acc1,Succ).
putBall([H|T],Pres, Acc,Succ):- H=:=0, checkRight(T,Res), Res=false,
append(Pres,[H],Pres1), putBall(T,Pres1,Acc,Succ).
putBall([H|T],Pres, Acc,Succ):- H=\=0,
append(Pres,[H],Pres1), putBall(T,Pres1,Acc,Succ).

pullBall([],Pres,Acc,Acc):-1.
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pullBall([H|T],Pres, Acc,Succ):- H==1, checkRight(TRes), Res=true,
append(Pres,[0],S),append(S,T.L), append([L] Acc,Acct),
append(Pres,[H],Pres1), pullBall(T,Pres1,Acc1,Succ).
pullBall([H|T],Pres, Acc,Succ):- H=:=1, checkRight(T,Res), Res=false,
append(Pres,[H],Pres1), pullBall(T,Pres1,Acc,Succ).
pullBall([H|T],Pres, Acc,Succ):- H=\=1,
append(Pres,[H],Pres1), pullBall(T,Pres1,Acc,Succ).

checkRight([],true):-L.

checkRight([1] true):-L.

checkRight([H|T],true):- H=1, not(member(1,T)) ..
checkRight([H|T] false):- H=0; member(1,T).

NES NPT ES édllj Solution Jgeie Uiy da)ylgsel! £539 Sudl Uy Lladh D> u=ny ‘A.LzL«.a.U ] ¥l saelall
Feait]

solve(Start,Goal Algorithm,Solution):-Algorithm=dfs, dfs(Start,Goal,[Start],[],[].Solution).
Y Dl LS Sy Slto
?-solve([1,1,1,1,1], [0,0,0,0,0], dfs, Solution).

dfs(Start,Goal,[],Closed,ReverseAccumulator,Solution):-!.

Ll e garmay (Bl (35 Auly) ootSlly oy Bladl Al L 55l DFS (29 Aol uagslgil oy Y1 5 51
Solution J=Js ReverseAccumulator gsge JSay J=l e by J=1 (e Ja=iag Closed 3,131 ol daugll

dfs(Start,Goal,[H|T],Closed,ReverseAccumulator,Solution):-not(H=Goal),append(Closed,[H],Closed1),
generateChildren(H,Children),
removeChildrenWhoArelnClosed(Children, Closed1, FinalChildren),
removeChildrenWhoArelnOpen(FinalChildren, T, FinalChildren1),
addFacts(H,FinalChildren1),
append(FinalChildren1,T,NewStack),
dfs(Start,Goal NewStack,Closed1,ReverseAccumulator,Solution).
dfs(Start,Goal,[H|T],Closed,ReverseAccumulator,Solution):-
H=Goalwrite(H),write(,),findPath(H,Start,[H|ReverseAccumulator],Solution),dfs(Start,Goal,[],Closed ReverseAccumulator,

Solution).
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